Chapter15HW
Short Answer

1.
Describe how government is involved in creating a monopoly. Why might the government create one? Give an example.

2.
Explain how a profit-maximizing monopolist chooses its level of output and the price of its goods. HINT: GRAPHING THIS OUT WOULD BE A BIG HELP.

3.
What is the deadweight loss due to profit-maximizing monopoly pricing under the following conditions: The price charged for goods produced is $10. The intersection of the marginal revenue and marginal cost curves occurs where output is 100 units and marginal revenue is $5. The socially efficient level of production is 110 units. The demand curve is linear and downward sloping, and the marginal cost curve is constant. HINT: GRAPHING THIS OUT WOULD BE A BIG HELP.

4.
One example of price discrimination occurs in the publishing industry when a publisher initially releases an expensive hardcover edition of a popular novel and later releases a cheaper paperback edition. Use this example to demonstrate the benefits and potential pitfalls of a price discrimination pricing strategy.

